FE 312
Asst. Prof. Katherine Smith

Spring 2009
Problem Set #1

1. What is the Consumer Price Index?  Why is this a useful measure?  In 1996 the Boskin Report stated that CPI tended to overstate inflation by approximately 1.1% per year on average.  List three reasons why this could occur. (Note: We did not cover this in class. This is from Chapter 2 of your text)
2. Consider a simple economy with only three goods.  The market price of each good is P1=5, P2=10, and P3=15.  The production (and consumption) of each good during 2002 was Q1=20, Q2=25, and Q3=10.

a. What is the value of nominal GDP?

b. Construct a consumer price index using as weights the share of each good in total consumption.

c. Assume that in 2003 prices rise to P1=6, P2=12, and P3=17 and quantities produced (and consumed) go to Q1=21, Q2=27, and Q3=11.  Calculate the value of nominal GDP and real GDP, using 2002 as the base year.  What is the growth rate of prices (inflation)?  What is the growth rate of real GDP?

d. What does your answer tell you about the importance of using price deflators?

3. Williamson Chapter 2 #2

4. Williamson Chapter 2 #9

5. Williamson Chapter 3 #1

6. Williamson Chapter 3 #3

